B R

ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ

IJIZI IE ﬁ Eﬁ I:Iﬂ HE
& & R 5 iR AT RE AL

(L7 B EBOEVLH R AR

Jiangsu Baiqiang Reducer Co., Ltd.

ik - HAREXFRRITS
24/ AR S5 #e2k ¢ 400-710-9918
ARG L : 13861467735

—EUJII%%'



RVZ 5656 & (R T Wi 28 2 Je 20 Bl nr— (U M B . FFEQ/IFO01—1999%5ME I BT [ ZXhafE
Wi, KAFLZ. Bt , Wl T BT mEAR T, BV T ENRIER ™R, ST W,
B, 9, PRIy, WE, ME, (L, STEYMRSEOMErED), 2ICIED R 8 BlE s 4 F= K
2 AL R — R R R

ZANTMEERNA . THEINE, (MESGREEHE, RWAT, Bk, REEIR, ZWER,
2D h s, R AEA, S s, JFRET S A AL MEL S, ENIEREREITR, BE,
LA, ZHTiE

R, SHEEE. #IE, Rid >>>>>

2.1 B
NRVE — 55 A S i 2%
NMRVE! — 5 A vk 22 Wi i 43
PCEY — 7 iy T80 e A 46 ool B B T I Ol 28
PCRVE! — PC+NRRVAHSHIMHEEE,
NRV+NMRVE — 55 A Sl 2 A S0 0E (A 558 47 ol e 45
NMRV+NMRVES — 7§ A 2% 0002 106 (A b b il T 2% .

2.2 ZELE

FPRETRE, RVEASTHRACE: WiTREBHE (E) | fdiEk= (F) | i (TA) | WEMY
A (YS) | sl (AB) A (AS) | 8 Hsral i Es s (PC) |
2.3 i3

(1) Bkt sife4. 25, 30, 40, 50, 63, 75, 90, 110, 130, 150, 185,

(2) WRWES R . 25/30. 25740, 30/40. 30/50. 30/63. 40/75. 40/90. 50/110. 63/130.

63/150,
(3) PCRVHHI#E. 063740, 063/50, 063/63. 071750, 071/63, 071/75. 071/90. 080/75.
080,90, 080,110, 0807130, 090/110, 090/130,

2.4 1&5@hik
HRES A, 5. 7.5, 100 15, 20, 25. 30. 40. 50. 60. 70. 80. 100,

2.5 i Rfl
NMRV F 50 -40 AS PCRV O71/75 —Y0.18{4P) —180 —\V5—F1—AB —1

[— ks

BCAB AL e i 4l

et H 3 == F

UL

———— [C A e A R A

teanit FTRC L) 52 R TR R
HlEE J& PR A RS 75mm
L EL e il ELRE R U ALK 5071
LS, PC+NMR V] &I AR



. 22222

1id

¢ 3
e
ety 4
s
-
=
asl |
.r. !
!
o
|..-.
9
—
- =T
=
=
-
o
oy -

TAERRELES

NMRV

e
e
iiiiiiiii
SN B
.-.._____.n._..__-..._i.-.._ =
L

G ———

m@blﬂﬂa-

.
- -
e .-..-"

Figg @I #4

RVEEHEEFEL

TAs&ERECH

ASEEEREESR

RS ETT L




B3 B8 Vs —1—
- @1
=
2
< B _
% V6 = : O
% |
fir i
VA S
AS] AS2 BSI BS2
B
&
-
=
- |
-
4
=
z
= i |
=
I
b
pi]
i

EF ot 3 W AHINN— D d




K B i Ma kws | Mz sf LU i Nz bow Mz sf ] 5 I Nz kw1 Mz sf
75 1887 008| 4 | 28 75 |1887 075 | 33 | 17 75 (1867 4 | 180 | 13
10 | 140 | 009| 5 | 23 10 | 140 | 075 | 42 | 1.3 10 | 440 | 4 | 236 | 1.1
15 | 933 | 009| 7 | 18 15 | 933|075 | 58 | 1.0 15 | 933 | 4 | 342 | 09
20 | 70 | 009 9 | 13 20 | 70 | 075 | 81 | 09 20 | 70 | 4 | 458 | 08
30 | 487 | 009 12 | 1.0 25 | 56 | 055 | 71 | 1.0 25 | 58 | 3 | 420 | 03
35 | 40 | 35 | 0.09| 15 | 09 50 | 30 | 467 | 055 | 81 | 1.0 90 | 30 | 467 | 3 | 479 | 09
50 28 | 006 12 | 09 40 | 35 055 | 101 | 08 40 | 35 | 220 | 433 | 08
60 | 233 | 008| 14 | 07 50 | 28 | 0437 | 80 | 09 50 | 28 | 220 | 492 | 08
60 | 233 037 | 89 | o8 60 | 23.3 | 150 | 424 | 038
80 | 175 | 025 | 72 | 08 80 | 175 | 1.10 | 365 | 0.8
100 14 . 0.18 B0 0.9 100 14 0.75 302 0.9
By i M kwi | Mz sf LS i e kwi | M sf K i n: | kwi | Me sf
7.5 186.7 0.8 7 1.9 7.5 186.7 | 1.50 68 1.5 T.5 | 186.7 | 7.50 345 1.4
10 | 140 | 018 | 9 1.5 10 | 140 | 150 | 88 | 1.2 10 | 140 | 7.50 | 455 | 1.1
15 933 | 018 | 13 | 1.0 15 | 933 150 | 126 | 09 15 | 93.3 | 550 | 484 | 1.2
20 | 70 | 018 | 17 | 08 20 | 70 | 150 | 166 | 08 20 | 70 | 550 | 638 | 0.8
25 | 56 | 018 | 21 | 1.0 25 | 56 | 1.10 | 146 | 0.9 25 | 56 | 550 | 790 | 0.8
30 | 30 467 018 24 | 08 63 | 30 | 467 | 110 | 167 | 1.0 110 | 30 | 46.7 | 4 | 647 | 08
40 35 | 012] 19 | 09 40 | 35 | 1.10 | 207 | 07 40 | 35 | 3 | 638 | 09
5p | 28 | 012 23 | 08 50 | 28 50,55: 124 | 1.1 50 | 28 | 3 | 767 | 08
gy 233 [009| 19 | 08 60 | 23.3 0557 140 | 09 60 | 23.3 | 220 | 648 | 0.8
ap | 175 | 006 | 14 | 09 80 | 175 | 037 | 115 | 1.1 80 | 17.5 | 1.50 | 548 | 0.8
100 | 14 | 037 | 129 | 0.9 100 | 14 | 1.10 | 473 | 0.9
% B i N kws Mz sf ti IR i M: kw1 Mz sf B B i Nz kwi | Mz sf
7.5 |186.7 | 057 16 1.6 7.5 |1887 | 4 182 1.0 75 | 186.7| 7.50 | 343 1.8
50 | 140 | 037 | 27 | 13 10 | 140 | 3 | 180 | 1.1 10 | 140 | 750 | 453 | 15
15 | 933 (037 | 28 | 09 15 | 933 3 | 261 08 15 | 933 | 750 | 664 | 1.1
20 | 70 | 037 | 39 | 10 20 | 70 | 220 | 240 | 08 20 | 70 | 750 | 864 | 08
25 | 56 | 037 | 47 | 0.8 25 | 56 | 150 | 205 @ 1.0 25 | 56 | 7.50 | 1074 | 08
40 | 30 467 037 | 53 | 08 75 | 30 |467 | 220 | 337 | o7 130 | 30 | 46.7 | 550 | 900 | 1.1
40 | 35 025 | 44 | 09 40 | 35 | 110 | 216 | 1.0 40 | 35 | 550 | 1171 | 0.9
50 28 0.22 47 0.8 50 28 1.10 264 0.8 50 28 550 | 1379 0.7
60 | 233 | 018 | 43 | 08 60 | 233 | 110 | 279 | 07 60 | 233 | 4 |1179 | 08
80 | 175 | 012 | 34 | 10 80 | 175 | 055 | 180 | 1.0 80 | 17.5| 220 | 816 | 1.0
100 14 | 012 | 38 | 08 100 | 14 | 055 | 206 | 0.9 100 | 14 | 220 | 966 | 08
M| i | on | kw | Mz | s | (BB 0 | m | kwi | M2 | sf
7.5 (1867 15 | 690 | 1.7 75 |186.7 | 22 | 980 | 1.75
10 140 15 870 | 1.4 10 140 22 | 1320 | 1.35 =3
R I R e b e e
j ' ' Nz=4g % B WL rpm
25 | 56 | 75 | 1040 | 1.1 25 | 56 | 11 | 1560 | 1.25
150 | 30 (467 | 75 | 1200/ 09 185 | 30 |467 | 11 |1760 | 1.3 EWE-WARIE A Tl
40 | 35 | 75 | 1550 | 1.0 40 | 35 | 11 |2320| 11 Ma= g th 138
50 28 | 55 | 1400 | 1.0 50 | 28 | 7.5 | 1920 | 1.2 sf=TAER I
60 (233 | 4 | 1180 | 1.0 60 | 233 75 | 2210 1.0
80 |175| 3 | 1130 | 1.0 80 | 17.5 | 55 |2070 | 1.0
100 | 14 | 22 | 975 | 10 100 | 14 4 1760 | 1.0




e St i
P H‘M o 75|10 |45 | 20 zsssndﬂsnﬁuanm
25 56B14 |50 | 65|80 9 (9 |9 |loa]|-9]la]o9

6385 |95 |M5|140] 11 [ 11 |11 [ 1% |11 |11 [ 1|1 |
30 63814 |e0 | mlwol | i1l 11]n
66B14 |50/ 65!/80 ) 9 (9 | 9|9 | 9|9 g9

"~ 71B5 | 110 130160 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14

Rl MRS, £ = -1 =i — SR

6385 |es|[ms{40/ [N N[ ]n
80B> 113011651200119 119118119 /19 112 /19] - | - | - | -
50 71B5 | 110130 160 14 |14 (14 |14 |14 |14 |14 14 |14 | 14

40

6385 g5 | M5 i40] « [ = | s | s |« |« ("] [N H]H B
_90B35 |130|165/200/24 |24 |24 |24 (24 | 24 |24 ) - | - | - | = =
83 80B5 |130/165/200/ 1918|1919 (19 19|19 |19 19| - | -
7185 [110j130)160) - | - | - | -~ | - | - |14 [14 |14 ] 14 | 14
100/M12B35|180|2161260 | 28 |28 |28 |28 | - |28 | - | - | - | - | -
75 | 90B35 130 165200 24 |24 |24 |24 (24 | 24 |24 24 |24 | - | -
goBs [130]1es|z00] - | - | -] - -1 - (19|19 19|19 19
100M112B35/ 180 (215|250 | 28 (28 [28 |28 (28 |28 [28 |28 | - | - | -

90 | ©90B3S |130|165/200]24 |24 |24 |24 |24 | 24 | 24 | 24 |24 | 24 |
B0B5 [130[165/200| - | - | - | - | - | - [19/19|19[19 |19
132835 |230|265/300| 38 (38|38 |38 (38| - | - [ - [ - [ - [ -
110 [100/112B35 180|215 250| 28 |28 |28 |28 | 28 | 28 | 28 | 28 | 28

g0B35 (130[165/200] - [ - | - | - |24 [ 24 [24 |24 [ 24|24 | 24
132835 1230 265300 38 | 38 38 |38 38 |38 | 38 38 | - | - | -

130 [100/112B35/180 215/250| - | - | - | - |28 28 |28 28 |28 | 28 | 28
90B35 | 130/ 165 200 _ 24 | 24 |24 | 24 | 24

160B35 | 250 300|350 | 42 | 42 42 | 42
150 | 132B35 |230/265 300 38 | 38 | 38 | 38 | 38 | 38 | 38 | 38
100/112B35 180 215 250| 26 | 26 | 26 | 28 |28 | 28 |28 26 |28 | 26 | 28
180B35 | 250 300 350 48 | 48 48 | 48

160B35 (250 /300|350 | 42 | 42 | 42 | 42 |42 | 42 | 42 | 42
132B35 | 230 265 300 38 | 38 38 | 38 | 38 | 38 | 38 | 38 | 38 | 38 | 38

100/112B35 180 215 250| 28 |28 |28 |28 |28 28 |28 28 [ 28|28 28

185




NRVIp iz <1 NMRV 30-185
' @ ”
| Ty 4
- ollt{llilel| |
B
RV 30-110 ke
KB 1,
- ST
e C i
H |
A
& Seff- i
|II ;| r_‘ wi %
LG Fe -
v ' lpo] T
KE
il Jat
P
e A C |DH7)| E F G H | L M [N(h8)| © P Q R S 1 Vv K
st
30 o4 | 80 | 14 | 87 | 32 | &5 | 40 | 30 | 56 | 65 | N4 | 65 | 75 | 44 | 57 | D5 | 20 | ZF | 44
40 70 | 101 | 18 |1E1-5! 43 | 70 | 50 | 40 | 71 | 75 | 60 | 65 | 87 | 55 [715| 65 | 23 | 35 | 6O
20 80 (1215 25 | 145 | 49 | 80 | 60 | 50 | 85 | 85 | 70 | 85 | 100 | 64 | 85 7 30 | 40 | 70
63 100 |147.5) 20 | 174 | 67 | 95 | 72 | 63 | 103 | 95 | 80 [ 685 | 110 | 80 | 102 | 8 40 | 50 | 85
2> | MRl e LaRa ) 7e TRl 06 | i I e sl e L 1 (D e LT L W | BC LRG0
90 | 140 (208 | 35 | 238 | 72 | 130 [ 103 ) 90 1130 | 150 | 110 | 13 ] 160 | 102 1 495 | 11 | S0 | ¥0 | 100
110 170 |252.5| 42 | 294 | 160 |127.5| 110 | 142 | 165 | 130 | 14 | 200 | 125 |1665| 15 60 85 | 115
130 200 [2925| 45 | 335 | 79 | 180 [147.5| 130 | 155 | 215 | 180 | 16 | 250 | 140 |187.5| 15 80 | 100 | 120
150 240 | 340 | 50 | 400 210 | 170 | 150 | 185 | 215 | 180 | 18 | 250 | 180 | 230 | 18 80 | 120 | 145
185 310 | 412 | 60 | 472 | 248 | 207 | 185 | 220 | 265 | 230 | 22 | 300 | 213 | 265 | 25 80 | 155 | 175
E,qﬁ% Gi | G2 | Ni | KA | KB | KC KE o | KM [KN(H8) KO | KP | KQ |d@®)| b | & | X | ¥
A | 6e | mk | 2D JohG] G |4 [MERUe) 0 | B ] B0 [BoME0 ) B0 |81 3 | 9 S
98 | R e penal BF L7 | # ( MEeowRy) el oF | 80 [ epemg Y i 9e | W8 ) 8 LELE %
a0 92 | 74 [ 435 | 90 9 5 |M8xX10(nd4) 45° 90 70 11(4/90°) | 125 | 110 | 14 8 |28.3 h
63 112 | 80 53 82 10 6 |M8X14(nB8)| 45° 150 | 115 | 11(4/90°) | 180 | 142 | 19 8 |283 #l
(5] 120 | 105 | &7 | 11 13 6 |MB8X14(n8)| 45° | 165 | 130 | 14(4/90° )| 200 | 170 | 24 g | 31.3 %
90 140 | 125 | &7 | 111 | 13 6 |(M10x18(n8) 45° | 175 | 152 | 14(4/90°)| 210 | 200 | 24 | 10 | 38.3 R
M0 | 155 142 | 74 | 139 | 15 | 6 |M10x18(n8) 45° | 220 | 170 | 14(8/90°) 270 | 260 | 28 | 12 |453 | ¥
130 | 170 | 162 | 81 [151.5] 15 | 6 |M12x20(n8) 45° | 265 | 180 | 16(8/45')| 320 | 200 | 30 | 14 [488|
160 | 200 | 210 | 96 | 155 | 15 7 |MI2X21(nB)| 45° | 255 | 1B | 16{(8BM5")| 320 | 290 | 35 | 14 | 538 &=
185 [ 240 | 240 | 116 [ 190 | 22 | 7 |M16X25(nB)| 45° | 350 | 280 | 22(8/45')| 400 | 390 | 40 | 18 | 644




L L AR J A — 3K

HLHE 56 63 71 80 a0 100 112 132 160 180
Thdt(kw) | 0.06 | 0.09 | 0.12 | 018 | 0.25 n.s:r: 055|075 | 11 |15 | 22| 3 | 4 |s5| 75| 11 | 15 |185| 22
X 150 207 225 245 260 | 285 320 340 | 395 | 435 | 490 | 535 | 560 | 600
Y 120 130 145 165 175 205 230 | 270 325 360
P ) /AR fin) A £ il R T
e D) B | B L Li f - t ASH 1 i th
25 | 11 | 23 |255 | @1 | 101 | - 4 | 125
B
30 | 14 | 30 |325| 102 | 128 | M6 | 5 16 b =
Y
40 | 18 | 40 | 43 | 128 | 164 | M& | & | 205 - \ i | [
R PR IRl Rl Dol Ml W T it NN
50 25 50 53.5 153 199 @ M10 B 28 [
63 | 25 | 50 |535 | 173 | 219 |[M10 | 8 | 28
75 28 60 63.5 192 247 | M10 8 3
90 | 35 | 80 | 84 | 234 | 308 |[M12 | 10 | 38 B
B
110 | 42 | 80 | 845 | 249 | 324 | M16 | 12 | 45 —‘I
130 45 g0 a5 265 340  Mie 14 48.5
P —
150 50 102 110 324 420 @ M20 14 53.5
185 | 60 | 112 | 120 | 374 | 480 | M20 | 18 | 64
HE o T & T
we | B | die) | T - t
30 45 09 20 3 10.5 1 B B
40 a3 1 _23 4 ! 125
50 64 14 30 5 | 16
63 75 19 | 40 6 | 215
75 90 24 | 50 8 o7
g0 | 108 | 24 | 50 | 8 | 27
10 | 135 | 28 | 60 8 | a1
130 | 155 | 30 | 80 & | a3
150 | 210 | 35 | 80 10 38
185 | 240 | 40 | 80 12 43
AR RS
TR B N T T
25 | 70 | 33 | 118 | 45 | 55 | 7 | 14 | 8 | B
30 &5 38 138 54 65 7 14 a8 (5]
40 | 100 | 44 [ 162 | 60 | 75 | 7 14 | 10 | 12
50 |100 | 50 | 168 | 70 | 85 | & | 14 | 10 | 12
63 150 | 55 | 223 | 80 | 95 | 9 | 14 | 10 | 12
75 |200| 70 |00 | o5 | 115 | 9 | 25 | 20 | 20
90 1200 | 80 | 310 | 110 | 130 | 11 | 25 | 20 | 20
1170 | 250 (100 | 285 | 130 | 165 | 11 | 30 | 25 | 25
130 | 250 | 125 | 410 | 180 | 215 | 14 | 30 | 25 | 25 H
150 | 250 (125 | 410 | 180 | 215 | 14 | 30 | 25 | 25 le §i i :rWiﬁﬂI
185 | 300 | 150 | 495 | 230 | 265 | 18 | 30 | 25 | 25 e o 'r , i




PA NRV+NMRV

£ , ,‘_ PB e §
' ‘?i

L L@ |

PC

1
&0
[0

Hz L M | & RS

M
-—-+-
-

501 \ o Z
| ; 4
i -
> >
| =
Il
4 PE | B
- | 1
P B
A

MNMRY | A |A| B | Cc | Ci|DHD|DWB)ENS)| F |G | H|H |[H|1 |J|K|L | L MM N|NoO|o|P
030/040 | 100 | 80 |121.5| 70 | 60 (18(19)) 9 | 60 | 43 | 71|75 365 29 |55 51 |20 (120 78| 50 |40 715 57 |40 | 30 | 87
ﬂﬂﬂfﬂﬁi}r 120 |80 | 144 | 80 | 70O (25(24)| 3 70 | 49 |85 | B0 |[43.5| 20 |20 |91 |20 130!92 60 40 &4 | 57 |20 | 30 {100
030/063 | 144 |80 | 174 (100 | 85 |25(28) 9 80 | 67 (103 95| 53 |29 |35 |51 (20 (145 |112| 72 4[]:1[]2 57 |63 3{]:-11[]
040/075 | 172 [100| 205 (120 | 90 |28(35)| 11 | 95 | 72 (112|115 57 365 70 | 60 |23 |165 120| 86 | 50 119 |71.5/75 | 40 |140
040/090 | 206 (100| 238 140 | 100 |35(38) 11 | 110 | 74 (130|130 67 |365 70 | 60 |23 |182 140|103 | 50 | 135 [71.5/90 | 40 |160
050/110 |252.5(120| 295 (170 | 115 42 | 14 | 130 | — 144|165 74 435 80 |74 |30 |225 1551275 60 [1675 84 110 | 50 200
063/130 [292.5(144 | 335 200 (120 45 | 19 | 180 | — |155 215 81 |53 |95 90 |40 245 1701275 72 1875 102130 | 63 |250
| NMBY la [R|s [T |v |Pa|reiPc PE pMiPNHe) PO (PPl PQl @ lar| b | by t b | m| kg
030/040 |55 (6.5 26 6.5 |35 |67 | 7 M6 8(n=4) | 75 60 |9(n=4) 110  110|45 | 45" | 6(6) |3 20.8(21.8) 10.2 — |39
030/050 | 64 |85/30 | 7 |40 (90| 9 M8 x 10(n=4) | 85 | 70 |11(n=4) 125 110|45 | 45"  8(8) 3 |28.3(27.3) 10.2 — 5.0

030/063 |80 8.5 36 |8 |50 82 10 M8 = 10(n=4) |150 115 |11(n=4) 180| 142| 45° 46" | 8(8) 3 28.3(31.3) 10.2| — 7.8

040/075 (93 | 11 |40 |10 |60 [111] 13 M8 x 14(n=8) 165 130 |14(n=4) 200 170 45 |45 10(10) 4 |31.3(38.3) 12.5 — 12.0

040/090 |‘1[}2' 1345 |11 |70 i111. 13 M8 = 14(n=8) | 175| 152 |14{n=4) 210 200| 45" 45 1'5]{1[1]; 4 i33.3{41,3}.12.5 — 16.0

050/110 125 | 14 |50 |14 |85 [131| 15| 6 [M10x 18(n=8) 230| 170 |14(n=4) 280 260|45 |45° | 12 | 5 | 453 |16.0| M6|30.2

2 S I R = T R T 5 O -

063/130 5‘140 16 |80 |15 1(}[3@143' 15 M12 = 21(n=8) 255| 180 |16(n=8) BEﬂiEBE 45 225 14 | B 488 [21.5 MEESE.E}

it W (kg) HEFHRHAYESR




ECUEN(M)RV+NMRV [ EE S £

KW | NMRV+NMRW 1 | na(rimin) | Ma2(N.-M) | i1 i2 KW | NMRV+NMRV 1' nz(rfmin) | Mz(N.M) | s iz
030/040 300 | 47 68.7 | 10 30 040/075 750 1.9 5504 @ 25 | 30
030/040 400 | 35 Q.7 | 10 | 40 040/090 900 1.6 599.7 | 30 | 30
030/040 200 2.8 101.6 20 25 048K 040/080 1200 1.2 760.8 30 40
030/040 600 | 23 1115 | 20 30 040/090 1500 | 0.9 g03.7 | 30 | 50
030/040 750 1.9 1450 | 25 30 050/110 1800 0.8 9323 | 60 | 30
030/040 165.8 30 30 050/110 2400 0.6 1216.4 60 40

T el B T T 0s0075 | 300 | a7 | 3476 | 10 | 30
030/040 2188 | 30 | 40 040/075 400 3.5 4406 | 10 | 40
wooso | 20| M o0 (a0 | 40 040/075 | 500 | 28 | 5501 | 10 | 50
030/040 2349 | 50 30 040/090 600 2.3 6391 | 15 | 40
030/050 1500 | 0.9 2475 | 50 | 30 | |gomay | 240080 | 730 1.9 907 | 15 | S0

0.06Kvy | 030/063 2702 | 30 50 040/090 900 16 9006 | 15 | 60
030/040 2586 | 60 30 050/110 1200 1.2 11290 | 30 | 40
030/050 | 1800| 08 | 2723 | 60 | 30 050/110 1500 | 0.9 | 12859 | 50 | 30
030/063 2806 | 30 60 050/110 1800 | 0.8 12049 | 60 | 30
030/040 1412 | 60 | 40 063/130 2400 | 06 | 18203 | 60 | 40
030/050 3539 | 60 | 40 063/130 3000 | 05 | 22441 | 80 | 50
030/063 P R 365.7 | 60 40 040/075 300 gy, |2MS | A0 | 30
040/075 3887 | 60 | 40 040/090 ' 4993 | 75 | 40

~ Dbaoioa0 3858 |60 | S0 040/090 400 35 6479 | 10 | 40
030/050 4048 | BO 50 040/090 500 2.8 7697 | 10 | 50
00063 | 0| ** [T4214 |60 | 60 | |qann| 0400%0 | 600 | 23 | ss2s | 15 | 40
040/075 4853 | 60 50 050/110 750 1.9 11572 | 25 | 30
030/040 3200 04 3692 | 80 | 40 _050M10 | 800 | 16 | 12806 | 30 | 30
030/040 aoo| 47 | 1031 |10 | 30 063130 | 1200 | 1.2 | 17412 | 40 | 30
030/050 400| 35 1411 | 10 | 40 063/130 1500 | 0.9 | 20062 50 | 30

 030/050 500 | 2.8 161.3 | 10 | 50 063/130 | 1800 | 0.8 | 20828 @60 | 30
030/050 600 | 23 176.2 | 20 30 050/110 300 4.7 7604 | 10 | 30
030/050 750 | 18 2291 | 25 30 | 050/110 | 400 | 35 8921 | 10 | 40

0.09KW  030/063 900 | 16 2727 | 30 30 ossy | 95010 500 2.8 12273 | 10 | 50
030/063 12000 12 | 3518 | 30 | 40 | Leuny 1 0S| so | Wihe | A8 | U
040/075 1500/ 09 4505 | 50 0 050/110 750 1.9 17202 | 25 | 30
040/075 1800, 0.8 4600 | 60 30 063/130 1200 16 | 25950 | 30 | 40
040/090 2400| 086 5793 | 60 | 40 050/110 300 4.7 10369 | 10 | 30
040/090 3000| 05 688.2 | 60 50 | 050110 | 400 3.5 13529 | 10 | 40
030/050 300 | 47 144.7 10 30 075K 063/130 500 28 1686.7 10 50
030/050 400 | 35 1881 | 10 | 40 ~ 063/130 600 2.3 19845 | 15 | 40
030/063 500 | 2.8 2239 | 10 50 063/130 750 19 | 24030 | 25 | 30
030/063 600 2.3 275.0 15 40 0637130 800 16 27358 | 30 | 30
__030/063 | 750| 18 | 3168 |15 | 60 | |qqqn | 00130 | 300 | 47 | 157251 10 | 90
0121w | 040075 g0 | 16 4028 | 30 30 083/130 400 35 | 20338 | 10 | 40
0530/063 46041 | 30 | 40 1800V | 083130 300 47 | 21443 | 10 | 30

040/075 i 5105 | 30 40

040/090 1500, 0.9 6025 | 30 50

DRWO40/090 1800 08 686.2 30 60

DRWO040/090 | 2400| 06 7724 | 60 | 40

DRWO50/110 3000 0.5 10032 | 60 50

 DRWO30/050 | 300 | 47 2171 | 10 30

01w | DRWO030/063 | 400 | 35 | 2915 | 10 | 40
DRWO30/063 | 500| 28 3359 | 10 50
DRW040/075 | 600 | 23 4726 | 20 30




PCZ J 81 B FHA R R BRI

T ] [ Tp] [ Tip] g
e (8§ |£(8 |8 >
0 I~ D 5 nm_
-t wt 3 = mm_
g | 8 |2 (K *
R |2 |2 |2 !
N F  E | e = =
@ @ @ oo
o) P o 2
=
| m & m m
29
18
€ 8|5 8|8 g
=
3
5=
O\
'd = i .,
1
E_\ m_ll-r..rr
=
- |0 /K neeeeeee
2d _._k._q - 3
HHIELHCC D
A%
y 2 o /lea3B8828839888888398388 58588898888

KRSIB232RRSRB8S

NMRY
40

O o[RS, SoR R RITEREENLS.

20
63
75
80
110
130

it




PCRVY:fE2% (ni=1400r/min)

KW PC+NMRV iz | nz(fmin) | Mz(N.M) | s i2 KW | PCRVO083/130 | iz | nar/min) | Mz(N-M) | i | iz
PCRV063/40 75 18.7 43.0 3 | 25 PCRV063/130 | 90 15.6 257.9 3 | 30
PCRV063/40 90 15.6 47.2 3 | 30 PCRV063/130 | 120 1.7 329.3 3 | 40
PCRV063/40 | 120 1.7 62.3 3 | 40 PCRV063/130 | 120 1.7 327.2 3 | 40
PCRWV063/40 70.4 3 | 50 PCRWV063/130 4111 3 | 50

~ PCRV063/50 1 2 73.9 3 | 50 PCRWV063/130 | s i 388.6 3 | 50
PCRV063/40 | o 28 71.9 3 | B0 0.55KW | PCRV063/130 | . 78 442.6 3 | 60
0.12KW | PCRW063/50 74.5 3 | 80 PCRV063/130 ' 467.6 3 | 60
PCRV063/63 95.7 3 | 8D PCRV063/130 | - 545.7 3 | 80
PCRV063/40 | 240 5.8 98.9 3 | 80 PCRV063/130 ' 591.9 3 | 80
PCRV063/50 104.9 3 | 80 PCRV063/130 | I 671.4 3 100
PCRV063/63 11.3 3 | 100 PCRV063/130 ' 702.4 3 [100
PCRV063/50 | 300 4.7 112.7 3 | 100 PCRV063/130 309.1 3 | 25
PCRV063/63 113.4 3 | 100 PCRV083/130 | 75 18.7 300.3 3 | 25
PCRWV063/40 - 8.7 64.4 3 | 25 PCRV063/130 310.2 3 | 25
_PCRV063/50 | 674 | 3 |35 _ PCRV063/130 3543 | 3 | 30
_PCRV063/40 | i 70.9 3 | 30 PCRV063/130 | 90 15.6 351.7 3 | 30
~ PCRWD63/50 74.6 3 | 30 PCRV083/130 346.8 3 | 3
PCRVOB340 | .o | 4, | 935 | 3 |40 PCRVOB3/130 | ..o | ... | 4461 | 3 |40
_ PCRV063/50 970 | 3 | 40| |0.75KW | PCRVO063/130 ‘ 4525 | 3 | 40
PCRV063/50 | .4 63 110.9 3 | 50 PCRV063/130 | i a5 530.0 3 | 50
0.18KW | PCRVO063/63 M50 | & |90 _ PCRV063/130 | 559.8 | 3 | S0
PCRV063/50 | o0 28 M7 [ 3 [ 60 PCRV063/130 186 26 603.6 3 | 60
PCRV063/63 1189 | 3 | 60 _ PCRV0E3/130 637.7 3 | 60
PCRWV063/50 148.4 3 | 80 PCRWV063/130 807.1 3 | &0
e I i 1573 | 3 | 80 pcrvosaiao | “*° | %% T7ep6 | 3 |80
PCRV0S3/50 | 4, 47 1690 3 |100) | | PCRVDB3/130 | 300 | 47 | 9579 | 3 | 100
PCRV063/63 1701 | 3 I_“?'F.'. PCRV063/130 79 6 19.3 4104 |242 | 30
PCRVOT150 | oo | 47, | 980 |37 25 PCRV063/130 | ; 4155 242 | 30
_PGRVO7T1063 1002 1317 25 PCRV063/130 96.8 145 2334 242 | 40
PCRVO71/50 | o, 14.7 1095 | 347 | 30 PCRV0B3/130 | =~ | ' 5375 |242 40
~ PCRVO071/63 1140 | 317 | 30 1.1KW | PCRV063/130 191 _— 6624 |242 | 50
PCRWV071/50 126.8 1 1423 | 3.17 | 40 PCRWVO0B3/130 ' 653.7 |242 | 50
- PCRVO071/63 1471 | 347 | 40 PCRV063/130 145.2 96 7545 242 | 60
025Ky | _PCRVOT163 | . . i 169.5 3.1?r 50 PCRV063/130 ' 775.2 |2.42 | 60
PCRV071/75 197.4 | 317 | 50 PCRVO0B3/130 | 0| 4, 9549 |2.42 | 80
PCRW071/63 S5 - 1759 | 317 | 60 PCRV063/130 ' ' 9259 |242 | 80
PCRWOT1/75 2141 | 3.17 | 60 PCRV063/130 | 242 5.6 11333 242 100
PCRVO71/63 2309 | 317 | 80 PCRV063/130 9096 |[242 | 30
pervor1rs | 000 | %S [Taesa 347 & “PeRvosanz0 | o0 | "% | seee 242 30
PCRVO71/63 | ... 14 2496 3-1?: 100 PCRV063/130 | ge g . 7301 [242 | 40
PCRVO71/75 3215 | 317|100  PCRV083/130 | ' 7329 242 | 40
PCRWV071/63 203 17.7 1483 |317| 25 1.5KW | PCRV063/130 | ., 16 9032 (242 | 50
PCRWO7 1/75 161.2 | 347 | 25 ~ PCRV063/130 | =0 8915 (242 | 50
PCRVOT1/63 | ., — 168.7 | 347 | 30 PCRV063/130 | ., 5 - 10288 |2.42 60
PCRVO71/75 1847 (317 30 PCRV063/130 | 1057.0 (242 | 60
PCRVO71/63 | o ¢ » 217.7 | 347 | 40 PCRV063/130 | 1936 7.2 12626 |242 | 80
0.37Kw |_PORVO71/75 2341 |347| 40
PCRVOT1/63 | ,pp ¢ iA 250.8 3-1?; 50
PCRVO71/75 2922 |317| 50
PCRVO71/63 3169 | 317 | 60
PCRWV071/90 1902 ke 3146 | 3.17 | 60
PCRWVO71/90 | 253.6 5.5 3879 | 3.17| 80
PCRVO71/00 | 317 44 4347 | 347 | 100
0.25Kkw | PCRV08O/75 75 18.7 226.7 3 | 25
PCRVOB0/75 90 15.6 259.8 3 | 30




M | A Hi ___Hi
. 1 i j i L1 [
= =1 _Fore - =)
Bl — - , i J
&/\ - 7 o i P =Z| o ki A A |. Dr
[ = : = > o I ! . ;
| | | I. w
e | It ﬁ s - I
. —
T : | BN [ ] | i i 1
‘ PE L
. C ,
G | T > |
1 G :
Li i
8
B
wmﬁi@% Bwow
o
SN AR
L
PCRV A B C Ci | D(HT) | E(h8) F G H Hi I L L1 M O P Q R
063/040 100 |121.5| 70 | 60 | 18(19) | 60 43 71 75 | 35| 123 | 40 78 | 50 |715] 40 ar 65 | 6.5
063/050 120 (144 | 80 | 70 | 25(24) | 70O 49 85 | BS | 435 | 133 | 40 92 | 60 84 | 50 | 100 | 64 | 85
Q71/050 120 | 144 | 80 | 70 | 25(24) | 7O 43 | 85 | 85 |435 (442 | 5O | 92 60 | B4 | 50 | 100 | 64 | B.5
063/063 144 | 174 | 100 | B85 | 25(28) | 80 687 | 103 | 95 53 (148 | 40 | M2 | 72 | 102 | 63 | 110 | 80 | 85
~ 071/063 144 | 174 | 100 | 85 | 25(28) | 80 67 | 103 | 85 53 | 158 [ S0 M2 | 72 (102 ]| 63 | 110 | 80 | B3
071/075 | 172 | 205 | 120 | 90 | 26(35) | 95 | 72 | 112 | 115 | 57 | 176 | 50 | 120 | 86 | 119 | 75 | 140 | 93 | 11 |
_080fO7S | 172 | 205 | 120 | 90 | 28(35) | 95 | 72 | 112 | 115 | 57 | 186 | 63 | 120 | 86 | 119 | 75 | 140 | 93 | 11
071/090 | 206 | 238 | 140 | 100  35(38) | 110 | 74 | 130 | 130 @67 | 193 | 50 | 140 103 | 135 90 | 160 | 102 | 13
_080/020 | 206 | 238 | 140 | 100 | 35(38) | 1%0 | 74 | 130 | 130 | 67 | 203 | 63 | 140 1103 | 135 | 90 | 160 | 102 | 13
080(090)110|252.5| 205 | 170 | 115 | 42 | 130 | — | 144 | 165 | 74 | 233 | 63 | 155 [127.5|167.5 110 | 200 | 125 | 14
080(020¥130(292.5| 335 | 200 | 120 45 180 — | 155 | 215 | 81 | 253 | 63 | 170 {1475 187.5] 130 | 250 | 140 | 16
PCRY S T V | PA|PB | PG PE PM | PN PO PROEA b t o |ay | kg |
 063/040 | 26 |65 |35 |67 | 7 | 4 | M6x8(n=4) | 75 | 60 | 9(n=4) | 110 | 95 | 6(6) | 20.8(21.8)| 45 | 45 | 3.9
063050 30 | 7 40 | 90 9 5 | M8x10(n=4) | 85 | 70 | 11(n=4) | 125 | 110 | 8(8) | 2B.3(27.3) | 45" | 45 | 5.2
0714050 30 | 7 40 | 90 9 5 | M8 = 10(n=4) | 85 | 70 |11(n=4) | 125 | 110 | 8(8) | 2B.3(27.3) | 45" | 45" | 58
063063 36 8 50 | 82 | 10 68  MB=x=14(n=8) | 150 | 115 | 11(n=4) | 180 | 142 | 8(8) | 2B.3(27.3) | 45" | 45" | 7.9
071/063 36 8 50 | 82 | 10 6 I MB = 14(n=8) | 150 | 115 | 11(n=4) | 180 | 142 | 8(8) | 2B.3(31.3) | 45" | 45" | 85
071/075 40 | 16 | 80 | 111 | 13 6 | MB=14(n=8) 165 130 | 14(n=4) 200 | 170 8(10) | 31.3(38.3) 45 | 45 113
080/075 40 | 10 | 60 [ 111 | 13 B M10 = 18(n=8) | 185 | 130 | 14(n=4) | 200 | 170 |8{10) | 31.3(38.3) | 45" | 45" | 131
071/090 45 N 70 | 1 | 13 B IM‘IDH 18(n=8) 175 | 152 | 14{n=4) | 210 | 200 %10[1[}} 38.3(41.3) | 45 | 45 | 153
080030 45 | N 70 " | 13 6 | M10 x18(n=8) | 175 | 152 | 14(n=4) | 210 | 200 10(10)] 38.3(41.3) | 45" | 45" | 17.2
080(030)110| SO | 14 | 85 [131 | 18 6 | M10x18(n=8) | 230 | 170 | 14(n=8) | 280 | 260 | 12 45.3 45 | 45" | 39
0B80O(090)130| 60 | 15 | 100 140 | 15 B , M12 x 21(n=8) | 255 | 180 | 16(n=8) | 320 | 290 @ 14 48.8 45' |225'| 52.2

e Wi (ke) AvEEEALAY IO



